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	 1.	 Hkkjr esa gM+Iik dk c`gr~ LFky gS

	 (a)	 jk[khx<+h	 (b)	<+ksyohjk

	 (c)	 dkyhcaxu	 (d)	yksFky

	 2.	 ÍXosfnd tu lHkk tks U;kf;d dk;ks± ls lacafèkr Fkh

	 (a)	 lHkk	 (b)	lfefr

	 (c)	 foèkkrk	 (d)	mi;qZDr esa ls lHkh

	 3.	 ¶;ed¸ cq¼ ¶fird¸ ls lacafèkr gS

	 (a)	 lwÙk

	 (b)	 fou;

	 (c)	 vfHkèkEe

	 (d)	 mi;qZDr esa ls dksbZ ugha

	 4.	 phuh rhFkZ;k=kh ftlus NBh 'krkCnh esa Hkkjr n'kZu fd;k

	 (a)	 ;qvku~ Pokax	 (b)	iQkfg;ku

	 (c)	 lqax ;qu	 (d)	vkbftax

	 5.	 pkyqD;u 'kkld iqydsflu dh g"kZ ij fot; dk o"kZ Fkk

	 (a)	 bZLoh 612	 (b)	bZLoh 618

	 (c)	 bZLoh 622	 (d)	bZLoh 634

	 6.	 pqEcdh; fn'kklwpd dk Hkkjrh; egklkxjksa esa iz;ksx dh 
izkjafHkd lwpuk fdlds }kjk nh xbZ\

	 (a)	 ekdksZ iksyks

	 (b)	 bCu crwrk

	 (c)	 ln#íhu eqgEen ^vkSiQh*

	 (d)	 fudksyks dksaVh

	 7.	 izFke okLrfod esgjkc fdl lYrudkyhu Lekjd esa 
n`'kkrhr~ gS\

	 (a)	 bYrqrfe'k dk edcjk

	 (b)	 cycu dk edcjk

	 (c)	 vykbZ njoktk

	 (d)	 dworwy bLyke efLtn

	 8.	 vfr dV~Vj iaFkh lwiQh laiznk; Fkk

	 (a)	 fp'rh	 (b)	lqgjkonhZ

	 (c)	 uD'kcanh	 (d)	dkfnjh

	 9.	 'kq¼ pkanh dk #i;k dk vkfo"dkj fdlus fd;k\

	 (a)	 vdcj	 (b)	'ksj'kkg

	 (c)	 tgk¡xhj	 (d)	vkSjax”ksc

	10.	 fuEufyf[kr Ñfr;ksa dks muds ys[kd ls lqesfyr djds 
lgh dwVksa esa ls mÙkj pqfu;sA

	 A.	 gdkbd , fganh 	 i.	bCu feLdkfo;k

	 B.	 rg”khcqy v[kykd	 ii.	ln#n~nhu eqgEen ̂ vkSiQh*
	 C.	 dqatqy frtkj	 iii.	vCnqy okfgn fcyxzkeh

	 D.	 tokfemy fgdk;kr~	 iv.	cSyd vy dck;kdh

	 1.	 The biggest Harappan site in India is
	 (a)	 Rakhigarhi	 (b)	 Dholavira
	 (c)	 Kalibangan	 (d)	 Lothal

	 2.	 The Rigvedic tribal assembly associated with 
judicial function was

	 (a)	 Sabha	 (b)	 Samiti
	 (c)	 Vidhata	 (d)	 All of these

	 3.	 “Yamaka” belongs to the Buddhist “Pitaka”
	 (a)	 Sutta
	 (b)	 Vinaya
	 (c)	 Abhidhamma
	 (d)	 None of these

	 4.	 The Chinese Pilgrim who visited India in the early 
6th century was

	 (a)	 Ywan Chwang	 (b)	 Fahien
	 (c)	 Sung Yun	 (d)	 I-tsing

	 5.	 The Chalukyan ruler Pulakesin’s victory over 
Harsha was in the year

	 (a)	 612 A.D.	 (b)	 618 A.D.
	 (c)	 622 A.D.	 (d)	 634 A.D.

	 6.	 The earliest reference of the use of magnetic 
compass in the Indian seas was by

	 (a)	 Marco Polo
	 (b)	 Ibn Battuta
	 (c)	 Sadruddin Muhammad “Aufi”
	 (d)	 Nicolo Conti

	 7.	 The first true arch in the Sultanate memorial could 
be seen in

	 (a)	 Iltutmish’s Tomb
	 (b)	 Tomb of Balban
	 (c)	 Alai Darwaza
	 (d)	 Quwwat-ul-lslam Mosque

	 8.	 The most orthodox Sufi order was
	 (a)	 Chishti	 (b)	 Suhrawardi
	 (c)	 Nagshbandi	 (d)	 Qadiri

	 9.	 The pure silver “rupiya” was issued by
	 (a)	 Akbar	 (b)	 Shershah
	 (c)	 Jahangir	 (d)	 Aurangzeb

	 10.	 Match the following texts with their authors and 
select the correct option :

	 A.	 Hagaig-i-Hindi	 i.	Ibn Miskawayh
	 B.	 Tahdhibul Akhlaq	 ii.	Sadruddin Muhammad 

“Aufi”
	 C.	 Kunzal Tijar	 iii.	Abdul Wahid Bilgrami
	 D.	 Jawamiul Hikayat	 iv.	Bailag al Qabayaki
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	 (a)	 A-iii	 B-i	 C-iv	 D-ii
	 (b)	 A-ii	 B-iv	 C-i	 D-iii
	 (c)	 A-iii	 B-i	 C-ii	 D-iv
	 (d)	 A-i	 B-ii	 C-iii	 D-iv

	11.	 c?kkr fj;klr dk fczfV'k esa foy; dc gqvk\

	 (a)	 1848	 (b)	1850

	 (c)	 1852	 (d)	1853

	12.	 fuEufyf[kr esa ls fdlus xkaèkhth ds ued vkanksyu esa 
Hkkx fy;k\

	 (a)	 ljksftuh uk;Mw

	 (b)	 jktdqekjh ve`r dkSj

	 (c)	 deyknsoh pV~Vksikè;k;

	 (d)	 mi;qZDr esa ls lHkh

	13.	 ¶ikfdLrku izLrko¸ dh :ijs[kk fdlus rS;kj dh\

	 (a)	 jger vyh

	 (b)	 fldanj g;kr~ [kk¡

	 (c)	 eqgEen vyh ftUuk

	 (d)	 iQ”kyqy gd

	14.	 Hkkjr Lora=krk ds le; vaxzsth egkjkt Fkk

	 (a)	 tktZ iape

	 (b)	 tktZ "k"B~e

	 (c)	 jktk ,MoMZ lIre

	 (d)	 mi;qZDr esa ls dksbZ ugha

	15.	 ekm.VcSVsu ;kstuk (twu 1947) us fuEufyf[kr esa ls 
fdl (fdu) izkar (izkarksa) esa yksd fu.kZ;kFkZ laLrqfr 
dh Fkh\

	 (a)	 flaèk

	 (b)	 cywfpLrku

	 (c)	 mÙkj&if'pe lhekar izkar	

	 (d)	 mi;qZDr esa ls lHkh

	16.	 fuEufyf[kr tksM+ksa esa ls dkSu lk tksM+k lgh ugha gS\
	 (a)	 Hkkjr dk dqy {ks=kiQy	 &	3.28 fefy;u oxZ 

fdyksehVj

	 (b)	 Hkkjr dk v{kka'kh; foLrkj	&	8°4´ m- ls 37°6´ 
m-

	 (c)	 Hkkjr dk js[kka'kh; foLrkj	&	68°7´ iw- µ 97°25´ 
iw-

	 (d)	 Hkkjr esa jkT;ksa dh la[;k	 &	26

	17.	 Hkkjr dk og dkSu&lk LFkku gS tgk¡ caxky dh [kkM+h] 
vjc lkxj rFkk fgUn egklkxj feyrs gSa\

	 (a)	 dU;kdqekjh	 (b)	bfUnjk ikbaV

	 (c)	 ukxjdksby	 (d)	jkes'oje~

	 (a)	 A-iii	 B-i	 C-iv	 D-ii
	 (b)	 A-ii	 B-iv	 C-i	 D-iii
	 (c)	 A-iii	 B-i	 C-ii	 D-iv
	 (d)	 A-i	 B-ii	 C-iii	 D-iv

	 11.	 The princely state of Baghat was annexed to the 
British in

	 (a)	 1848	 (b)	 1850
	 (c)	 1852	 (d)	 1853

	 12.	 Who among the following participated in the Salt 
Satyagraha of Gandhi?

	 (a)	 Sarojini Naidu
	 (b)	 Rajkumari Amrit Kaur
	 (c)	 Kamladevi Chattopadhyaya
	 (d)	 All of these

	 13.	 The “Pakistan Resolution” was drafted by
	 (a)	 Rehmat Ali
	 (b)	 Sikandar Hayat Khan
	 (c)	 Muhammad Ali Jinnah
	 (d)	 Fazlul Haque

	 14.	 The British Monarch at the time of Indian 
Independence was

	 (a)	 George V
	 (b)	 George VI
	 (c)	 King Edward VII
	 (d)	 None of these

	 15.	 Mountbatten Plan (June 1947) provided for a 
referendum in which of the following province(s)?

	 (a)	 Sindh
	 (b)	 Baluchistan
	 (c)	 North-West Frontier Province
	 (d)	 All of these

	 16.	 Which of the following pair is not correctly 
matched?

	 (a)	 Total area of India	 –	 3.28 Million 	
		  sq.km.

	 (b)	 Latitudinal extent	 –	 8°4’ N - 37°6’N
	 (c)	 Longitudinal extent	 –	 68°7’ E - 97°25’E
	 (d)	 Number of states in India	–	26

	 17.	 Name the place in India where Bay of Bengal, 
Arabian sea and Indian Ocean meet.

	 (a)	 Kanyakumari
	 (b)	 Indira Point
	 (c)	 Nagarkoel
	 (d)	 Rameshwaram
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	18.	 {ks=kiQy dh n`f"V ls Hkkjr dk fo'o ds ns'kksa esa dkSu&lk 
LFkku gS\

	 (a)	 ikapok¡	 (b)	NBk¡

	 (c)	 lkrok¡	 (d)	vkBok¡

	19.	 fuEufyf[kr mPpkop vkÑfr;ksa ij è;ku nhft;s %
	 1.	 egknso ioZr J`a[kyk

	 2.	 eSdky ioZr J`a[kyk

	 3.	 NksVk ukxiqj iBkj

	 4.	 [kklh dh igkfM+;k¡

	 	mijksDr mPPkkop vkÑfr;ksa dk if'pe ls iwoZ dh vksj 
c<+rs gq, lgh Øe crkb, %

	 (A)	 1, 2, 3, 4	 (B)	 4, 3, 2, 1

	 (C)	 2, 3, 4, 1	 (D)	 1, 3, 2, 4

	20.	 fuEufyf[kr esa ls dkSu&lk tksM+k lgh gS\
	 	 unh		 jkT;

	 (A)	 bUnzkorh	 >kj[k.M

	 (B)	 Hkhek	 rfeyukMq

	 (C)	 ywuh	 jktLFkku

	 (D)	 ?kVizHkk	 dsjy

	21.	 >kj[k>.M esa okf"kZd o"kkZ varjky gS
	 (a)	 60 ls 100 lsUVhehVj ds eè;

	 (b)	 100 ls 200 lsUVhehVj ds eè;

	 (c)	 200 ls 300 lsUVhehVj ds eè;

	 (d)	 300 lsUVhehVj ls vfèkd

	22.	 fuEufyf[kr esa ls dkSu&lk tksM+k lgh ugha gS\
	 	 {ks=k		 eq[; lalkèku

	 (a)	 dksYgku	 	[kfut lalkèku

	 (b)	 dPN	 	ou lalkèku

	 (c)	 eykckj rV	 	ty lalkèku

	 (d)	 eè; xaxk eSnku	 	e`nk lalkèku

	23.	 fuEufyf[kr esa ls dkSu&lk tksM+k lgh gS\
	 	 {ks=k		  eq[; vkfFkZd fØ;kdyki

	 (a)	 yík[k	 	 lwrh oL=kks|ksx

	 (b)	 n.Mdkj.;	 	 twV dh Ñf"k

	 (c)	 mÙkjh fcgkj	 	 phuh m|ksx

	 (d)	 jk;y lhek	 	 pk; dh ckxku

	24.	 Hkkjr esa fuEu jkT;ksa esa mPp ls fuEu tula[;k ?kuRo 
dk 2011 dh tux.kuk ds vuqlkj lgh Øe D;k gS\

	 (a)	 iatkc&fcgkj&>kj[k.M&mÙkjk[k.M

	 (b)	 fcgkj&>kj[k.M&mÙkjk[k.M&iatkc

	 (c)	 fcgkj&iatkc&>kj[k.M&mÙkjk[k.M

	 (d)	 iatkc&fcgkj&mÙkjk[k.M&>kj[k.M

	 18.	 Where does India rank in area among the countries 
of the world?

	 (a)	 Fifth	 (b)	 Sixth
	 (c)	 Seventh	 (d)	 Eighth

	 19.	 Consider the following relief features:
	 1.	 Mahadev Range
	 2.	 Maikal Range
	 3.	 Chhotanagpur Plateau
	 4.	 Khasi Hills

		  The correct west to eastward sequence of the above 
relief features is

	 (a)	 1,2,3,4	 (b)	 4,3,2,1
	 (c)	 2,3,4,1	 (d)	 1,3,2,4

	 20.	 Which one of the following pair is correctly 
matched?

		  Rivers		  States
	 (a)	 Indravati	 –	 Jharkhand
	 (b)	 Bhima	 –	 Tamil Nadu
	 (c)	 Luni	 –	 Rajasthan
	 (d)	 Ghatprabha	 –	 Kerala

	 21.	 Average annual rainfall range in Jharkhand is
	 (a)	 Between 60 to 100 cms
	 (b)	 100 to 200 cms
	 (c)	 200 to 300 cms
	 (d)	 More than 300 cms

	 22.	 Which one of the following pair is not correctly 
matched?

		  Area		  Important 	
		  Resources

	 (a)	 Kolhan	 –	 Mineral Resources
	 (b)	 Kutch	 –	 Forest Resources
	 (c)	 Malabar Coast	 –	 Water Resources
	 (d)	 Middle Ganga plain	 –	 Soil Resources

	 23.	 Which one of the following pair is correctly 
matched?

	 	 Area		  Main Economic Activity
	 (a)	 Laddakh	 –	 Cotton Textiles
	 (b)	 Dandakaranya	–	 Cultivation of Jute
	 (c)	 North Bihar	 –	 Sugar Industry
	 (d)	 Royal Seema	 –	 Tea Plantation

	 24.	 The correct sequence of population density from 
high to low in the following states of India as per 
2011 census is

	 (a)	 Punjab – Bihar – Jharkhand – Uttarakhand
	 (b)	 Bihar – Jharkhand – Uttarakhand – Punjab
	 (c)	 Bihar – Punjab – Jharkhand – Uttarakhand
	 (d)	 Punjab – Bihar – Uttarakhand – Jharkhand
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	25.	 lwph&I dks lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;sA

	 	lwph&I	 lwph&II

		 (tutkfr)	 (ewy jkT;)

	 A.	 Fkk#	 1-	 jktLFkku

	 B.	 Hkhy	 2-	 fgekpy izns'k

	 C.	 xn~nh	 3-	>kj[kaM

	 D.	 eqaMk	 4-	mÙkj izns'k

		 dwV %
	 		 A	 B	 C	 D
		  (a)	 4	 2	 1	 3
		  (b)	 1	 3	 4	 2
		  (c)	 4	 1	 3	 2
		  (d)	 4	 1	 2	 3
	26.	 vuqlwfpr tkfr vkSj vuqlwfpr tutkfr dks la;qDr jk"Vªh; 

vk;ksx ds fdl la'kksèku ds varxZr nks vyx fudk;ksa 

esa ck¡Vk x;k gS\

	 (a)	 42osa la'kksèku	 (b)	44osa la'kksèku

	 (c)	 89osa la'kksèku	 (d)	93osa la'kksèku

	27.	 ewy Hkkjrh; lafoèkku esa fdrus Hkkx] vuqPNsn vkSj 

vuqlwph Fks\

	 (a)	 22 Hkkx] 395 vuqPNsn vkSj 8 vuqlwph

	 (b)	 24 Hkkx] 450 vuqPNsn vkSj 12 vuqlwph

	 (c)	 22 Hkkx] 390 vuqPNsn vkSj 8 vuqlwph

	 (d)	 24 Hkkx] 425 vuqPNsn vkSj 12 vuqlwph

	28.	 Hkkjr esa jktuhfrd nyksa ls nycny dh cqjkbZ dks fdl 

la'kksèku ds varxZr vfèkfu;fer fd;k x;k gS\

	 (a)	 52osa la'kksèku	 (b)	54osa la'kksèku

	 (c)	 56osa la'kksèku	 (d)	58osa la'kksèku

	29.	 Hkkjr ds lafoèkku esa fdl vuqPNsn esa djksa dks dsanz }kjk 
yxk;k rFkk ,df=kr fd;k tkrk gS] ysfdu dsanz vkSj 
jkT;ksa ds chp forfjr fd;k tkrk gS\

	 (a)	 vuqPNsn 268	 (b)	vuqPNsn 269

	 (c)	 vuqPNsn 270	 (d)	vuqPNsn 271

	30.	 fuEu esa ls dkSu lq'kklu dh fo'ks"krk ugha gS\

	 (a)	 tokcnsgh	 (b)	ikjnf'kZrk

	 (c)	 dkuwu dk fu;e	 (d)	yky fiQrk'kkgh

	31.	 feFkdksa vkSj dgkorksa ds :i esa iz'kklu ds fl¼karksa dks 
fdlus vLohdkj fd;k gS\

	 (a)	 gcZVZ lkbeu	 (b)	M~okbV okYMks

	 (c)	 izSaQd esfjuh	 (d)	,iQ-MCY;w- fjaXl

	 25.	 Match List – I with List – II and select the correct 
answer using the codes given below the lists:

		  List-I		  List-II
		  Tribes		  Native States
	 A.	 Tharu	 1.	 Rajasthan
	 B.	 Bhil	 2.	 Himachal Pradesh
	 C.	 Gaddi	 3.	 Jharkhand
	 D.	 Munda	 4.	 Uttar Pradesh

		  Codes:
		  A	 B	 C	 D
	 (a)	 4	 2	 1	 3
	 (b)	 1	 3	 4	 2
	 (c)	 4	 1	 3	 2
	 (d)	 4	 1	 2	 3

	 26.	 Which Constitutional Amendment bifurcated the 
Combined National Commission for Scheduled 
Castes and Scheduled Tribes into two separate 
bodies?

	 (a)	 42nd Amendment	 (b)	 44th Amendment
	 (c)	 89th Amendment	 (d)	 93rd Amendment

	 27.	 How many Parts, Articles and Schedules was there 
in the original Indian Constitution?

	 (a)	 22 Parts, 395 Articles and 8 Schedules
	 (b)	 24 Parts, 450 Articles and 12 Schedules
	 (c)	 22 Parts, 390 Articles and 8 Schedules
	 (d)	 24 Parts, 425 Articles and 12 Schedules

	 28.	 In which Amendment was the evil of defections 
from the political parties in India enacted?

	 (a)	 52nd Amendment	 (b)	 54th Amendment
	 (c)	 56th Amendment	 (d)	 58th Amendment

	 29.	 Under which Article of the Constitution of India, 
Taxes are levied and collected by the centre but 
distributed between the centre and the States?

	 (a)	 Article 268	 (b)	 Article 269
	 (c)	 Article 270	 (d)	 Article 271

	 30.	 Which of the following is not a feature of good 
governance?

	 (a)	 Accountability	 (b)	 Transparency
	 (c)	 Rule of Law	 (d)	 Red Tapism

	 31.	 Who rejected the ‘Principles of Administration as 
myths and proverbs’ 2?

	 (a)	 Herbert Simon
	 (b)	 Dwight Waldo
	 (c)	 Frank Marini
	 (d)	 F. W. Riggs
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	32.	 ¶jkT; gj txg gS % ;g varjky 'kk;n gh dksbZ NksM+rk 
gS¸ ;g oDrO; fdl èkkj.kk dh O;k[;k djrk gS\

	 (a)	 dY;k.kdkjh jkT;

	 (b)	 dE;qfuLV jkT;

	 (c)	 yksdrkaf=kd jkT;

	 (d)	 iqfyl jkT;

	33.	 nwljs iz'kklfud vk;ksx dh dkSu lh izfrosnu us Hkkjr 
esa lq'kklu dh ckèkkvksa dh igpku dh gS\

	 (a)	 ^'kklu esa uSfrdrk*

	 (b)	 ^ukxfjd&dsfUnzr iz'kklu % 'kklu dk dsUnzfcUnq*

	 (c)	 ^bZ&'kklu dks c<+kok*

	 (d)	 ^LFkkuh; 'kklu*

	34.	 Hkkjrh; lafoèkku ds dkSu&ls vuqPNsn esa f”kyk ;kstuk 
lfefr dk xBu gksrk gS\

	 (a)	 vuqPNsn 243 ZD

	 (b)	 vuqPNsn 244 ZD

	 (c)	 vuqPNsn 242 ZD

	 (d)	 vuqPNsn 243 ZE

	35.	 tksfM+;k¡ cukb, %
	 	 lwph & I		 lwph & II

	 (o"kZ)	 (lfefr)

	 1-	 1949&51	 A.	 LFkkuh; foÙk tkap lfefr

	 2-	 1953&54	 B.	 djkèkku tkap vk;ksx

	 3-	 1963&66	 C.	 xzkeh.k&'kgjh lacaèk lfefr

	 4-	 1985&88	 D.	 'kgjhd.k ij jk"Vªh; vk;ksx

	 dwV %
		  1	 2	 3	 4
	 (a)	 A	 B	 C	 D
	 (b)	 B	 C	 D	 A
	 (c)	 C	 D	 B	 A
	 (d)	 D	 C	 B	 A

	36.	 pkSngosa foÙk vk;ksx fliQkfj'kksa ds vkèkkj ij la?kh; djksa 
ds dqy vk; dk fgLlk] dsUnz ls jkT; ds eè; o`f¼ 
ds fy, fuf'pr fd;k x;k gS

	 (a)	 32 izfr'kr

	 (b)	 37 izfr'kr

	 (c)	 42 izfr'kr

	 (d)	 41 izfr'kr

	37.	 us'kuy xzhu fVªC;wuy (,u-th-Vh-) Hkkjr ljdkj }kjk 
LFkkfir fd;k x;k Fkk

	 (a)	 2008	 (b)	 2009

	 (c)	 2010	 (d)	 2011

	 32.	 “The State is everywhere : it leaves hardly a gap.” 
This statement explains the concept of

	 (a)	 Welfare State
	 (b)	 Communist State
	 (c)	 Democratic State
	 (d)	 Police State

	 33.	 In which Report of the Second Administrative 
Reforms Commission barriers of Good Governance 
in India have been identified?

	 (a)	 ‘Ethics in Governance’
	 (b)	 ‘Citizen-Centric Administration : The Heart 

of Governance’
	 (c)	 ‘Promoting E-Governance’
	 (d)	 ‘Local Governance’

	 34.	 Under which Article of the Indian Constitution is 
the District Planning Committee constituted?

	 (a)	 Article 243 ZD	 (b)	 Article 244 ZD
	 (c)	 Article 242 ZD	 (d)	 Article 243 ZE

	 35.	 Match the following :
		  List-I		  List-II
		  (Year)		  (Committee)
	 1.	 1949-51	 A.	� Local Finance Enquiry 

Committee
	 2.	 1953-54	 B.	� Ta x a t i o n  E n q u i r y 

Commission
	 3.	 1963-66	 C.	� Rural-Urban Relationship 

Committee
	 4.	 1985-88	 D.	� National Commission on 

Urbanisation

	 	 Codes:
		  1	 2	 3	 4
	 (a)	 A	 B	 C	 D
	 (b)	 B	 C	 D	 A
	 (c)	 C	 D	 B	 A
	 (d)	 D	 C	 B	 A

	 36.	 The recommendation of the 14th Finance 
Commission for increase the share of net proceeds 
of union taxes between centre to states has been 
fixed at

	 (a)	 32 percent	 (b)	 37 percent
	 (c)	 42 percent	 (d)	 41 percent

	 37.	 National Green Tribunal (NGT) was established 
by the Government of India in

	 (a)	 2008	 (b)	 2009
	 (c)	 2010	 (d)	 2011
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	38.	 Hkkjr ds ifjizs{; esa fuEufyf[kr esa ls dkSu&lk dFku 

tyok;q ifjorZu ds nq"izHkko ds lanHkZ esa lR; ugha 

gS\

	 (a)	 Dyhu MsoyiesUV (CDM) dh LFkkiuk

 	 (b)	 us'kuy ,MkiVs'ku iaQM ds varxZr 100 djksM+ 

#- dk izkjfEHkd dks"k ds :i esa fuos'k

	 (c)	 gky gh esa nf{k.k vÚhdk ds lu flVh esa 

vk;ksftr BASIC dh 19oha cSBd esa 'kkfey u 

gksuk

	 (d)	 mi;qZDr lHkh dFku lR; gSa

	39.	 lwph&I dks lwph&II ls lqesfyr djsa vkSj uhps fn, gq, 

dwVksa esa ls lgh mÙkj dk p;u djsa

	 	 lwph & I		  lwph & II

	 A.	 bfuDokWfyVh	 i.	 tkslsiQ b- fLVfXyV~t

	 	 jh&,DtkfeUM

	 B.	 n izkbl vkWiQ	 ii.	 FkkWel fidsdVh

	 	 bfuDokWfyVh

	 C.	 bfuDokWfyVh % okV	 iii.	 veR;Z lsu

	 	 dSu ch Mu

	 D.	 n bdksukWfeDl vkWiQ 	iv.	 ,UFkuh ch- ,VfdUlu

	 	 bfuDokWfyVh

	 dwV %
		  A	 B	 C	 D
	 (a)	 iv	 iii	 ii	 i
	 (b)	 ii	 iv	 i	 ii
	 (c)	 ii	 iii	 i	 iv
	 (d)	 ii	 i	 iv	 ii

	40.	 lwph&I dks lwph&II ls lqesfyr djsa vkSj lgh mÙkj dk 

p;u djsa

		  lwph & I		 lwph & II

	 A.	 pØorhZ lfefr	 i.	 dj lqèkkj

	 B.	 ujflage lfefr	 ii.	 fuèkZurk vkdyu

	 C.	 rsaMqydj lfefr	 iii.	 cSafdax {ks=k lqèkkj

	 D.	 pyS;k lfefr	 iv.	 foÙkh; {ks=k lqèkkj

	 dwV %
		  A	 B	 C	 D
	 (a)	 iii	 ii	 i	 iv
	 (b)	 iv	 i	 iii	 ii
	 (c)	 ii	 iii	 iv	 i
	 (d)	 iii	 iv	 ii	 i

	 38.	 Which of the following is not true for India to 
combat the adverse impact of Climate Change?

	 (a)	 Establishment of Clean Development 
Mechanism (CDM)

	 (b)	 Investment of Rs. 100 crores as an initial 
corpus under National Adaptation Fund

	 (c)	 Not attended the 19th Meeting of BASIC at 
Sun City, South Africa held recently

	 (d)	 All the above are true

	 39.	 Match List–I and List–II and select the correct 
answer using the codes given below the lists :

		  List-I		  List-II
	 A.	 Inequality	 i.	Joseph E. Stiglitz
		  Re-examined
	 B.	 The Price	 ii.	Thomas Piketty
		  of Inequality
	 C.	 Inequality : what	 iii.	Amartya Sen
		  can be done
	 D.	 The Economics	 iv.	Anthony B. Atkinson
		  of Inequality

	 	 Codes:
		  A	 B	 C	 D
	 (a)	 iv	 iii	 ii	 i
	 (b)	 ii	 iv	 i	 ii
	 (c)	 ii	 iii	 i	 iv
	 (d)	 ii	 i	 iv	 ii

	 40.	 Match List–I and List–II and select the correct 
answer :

		  List-I		  List-II
	 A.	 Chakravarty	 i.	 Tax Reforms
		  Committee
	 B.	 Narasimham	 ii.	 Poverty Estimation
		  Committee
	 C.	 Tendulkar	 iii.	 Banking Sector Reforms
		  Committee
	 D.	 Chelliah	 iv.	 Financial Sector Reforms
		  Committee

	 	 Codes:
		  A	 B	 C	 D
	 (a)	 iii	 ii	 i	 iv
	 (b)	 iv	 i	 iii	 ii
	 (c)	 ii	 iii	 iv	 i
	 (d)	 iii	 iv	 ii	 i
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	41.	 2004&05 ds 61osa ,u-,l-,l-vks- MkVk esa fuèkZurk 
vkdyu djus ds fy, fofèk viuk;h x;h gS

	 (a)	 ;wuhiQkWeZ fjdkWy esFkM (;w-vkj-,e-)

	 (b)	 feDLM fjdkWy esFkM (,e-vkj-,e-)

	 (c)	 ;w-vkj-,e- vkSj ,e-vkj-,e- nksuksa

	 (d)	 buesa ls dksbZ ugha

	42.	 jk"Vªh; [kk| lqj{kk dkuwu ds lanHkZ esa dkSu&lk dFku 
lR; ugha gS\

	 (a)	 67 izfr'kr turk dks dkuwuh :i ls lfClMh 
okys [kk| iznku djrh gS

	 (b)	 ;g 75 izfr'kr xzkeh.k tula[;k vkSj 50 izfr'kr 
'kgjh tula[;k dks vkPNkfnr djrh gS

	 (c)	 blds dsoy nks vuqPNsn gSa tks dher dh leL;k 
vkSj Hkkstu dh ikSf"Vdrk ds Lrj dks fuèkkZfjr 
djrk gS

	 (d)	 mijksDr lHkh

	43.	 jk"Vªh; fofuekZ.k uhfr Hkkjr ljdkj }kjk vkjEHk dh 
x;h Fkh

	 (a)	 2010	 (b)	2011

	 (c)	 2012	 (d)	2013

	44.	 Lis'ky bdksukWfed ”kksu (,l-b-tsM+) dh uhfr ns'k esa 
igyh ckj vkjaHk dh x;h Fkh

	 (a)	 1991	 (b)	2000

	 (c)	 2005	 (d)	buesa ls dksbZ ugha

	45.	 ckjgoha iapo"khZ; ;kstuk ds lanHkZ esa dkSu&lk fcanq ugha 
gS\

	 (a)	 8 izfr'kr okLrfod th-Mh-ih- fodkl nj

	 (b)	 4 izfr'kr Ñf"k fodkl nj

	 (c)	 izfr O;fDr miHkksDrk fuèkZurk 10 izfr'kr rd 
de djuk

	 (d)	 mijksDr lHkh

	46.	 jkbckstkbEl gksrs gSa
	 (a)	 Mh-,u-,-	 (b)	 vkj-,u-,-

	 (c)	 izksVhUl	 (d)	 buesa ls dksbZ ugha

	47.	 e`r eNyh ls fudyus okyh nqx±èk fdu ;kSfxdksa ds 
dkj.k gksrh gS\

	 (a)	 vehuks ;kSfxd	 (b)	 ,fYMgkbfMd ;kSfxd

	 (c)	 lYiQj ;kSfxd	 (d)	 ukbVªks ;kSfxd

	48.	 uku&fLVd izQkbax dM+kgh esa ysi yxk gksrk gS

	 (a)	 vkjyku	 (b)	 VsÝyku

	 (c)	 ikyhLVkbfju	 (d)	 ikyhizksikbfyu

	 41.	 The methodology followed for poverty estimation 
by using 61st NSSO data in 2004-05 is

	 (a)	 Uniform Recall Method (URM) only
	 (b)	 Mixed Recall Method (MRM) only
	 (c)	 Both URM and MRM
	 (d)	 None of the above

	 42.	 Which of the following is not true for National 
Food Security Act?

	 (a)	 It provides legal entitlement to 67 percent of 
population at subsidised food

	 (b)	 It covers 75 percent of rural population and 
50 percent of urban population

	 (c)	 It has only two schedules which prescribes 
for issue of price and nutritional standards of 
food

	 (d)	 All of the above

	 43.	 National Manufacturing Policy was introduced by 
the Government of India in

	 (a)	 2010	 (b)	 2011
	 (c)	 2012	 (d)	 2013

	 44.	 The policy for Special Economic Zone (SEZ) was 
introduced in the country for the first time in

	 (a)	 1991	 (b)	 2000
	 (c)	 2005	 (d)	 None of the above

	 45.	 Which of the following is not an vision of 12th Five 
Year Plan

	 (a)	 Real GDP growth rate of 8 percent
	 (b)	 Agricultural growth rate of 4 percent
	 (c)	 Head count ratio of consumption poverty to 

be reduced by 10 percent points
	 (d)	 All of the above

	 46.	 Ribozymes are
	 (a)	 DNA	 (b)	 RNA
	 (c)	 Proteins	 (d)	 None of these

	 47.	 The foul smell of dead fish is due to the compound
	 (a)	 Amino compounds
	 (b)	 Aldehydic compounds
	 (c)	 Sulphur compounds
	 (d)	 Nitro compounds

	 48.	 Non-stick frying pans are coated with
	 (a)	 Orlon
	 (b)	 Teflon
	 (c)	 Polystyrene
	 (d)	 Polypropylene
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	49.	 fo"kkDr eLVMZ xSl gksrh gS
	 (a)	 xSl

	 (b)	 nzo

	 (c)	 Bksl

	 (d)	 mi;qZDr esa ls dksbZ ugha

	50.	 MkbukekbV ds fuekZ.k esa iz;qDr gksus okyk jklk;fud 
(Chemical) gSA

	 (a)	 Xykblsjky

	 (b)	 Xykblsjky VªkbZ,lhVsV

	 (c)	 Xykblsjky VªkbZukbVªsV

	 (d)	 Xykblsjky VªkbZvk;ksMsV

	51.	 ekuo jDr esa vYdksgy dh fdruh izfr'kr ek=kk e`R;q 
dk dkj.k gksrh gS\

	 (a)	 2.0	 (b)	 3.0

	 (c)	 5.0	 (d)	 7.0

	52.	 lwpuk izkS|ksfxdh dks ifjHkkf"kr dj ldrs gSa

	 (a)	 dEI;wVlZ $ dusfDVfoVh

	 (b)	 dEI;wVlZ $ usVodZ

	 (c)	 gkMZosvj $ lkWÝVosvj

	 (d)	 dusfDVfoVh $ gkMZosvj

	53.	 ,d fdyksckbV esa fdrus fcV~l gksrs gSa\

	 (a)	 1024	 (b)	1000

	 (c)	 8024	 (d)	8192

	54.	 fuEufyf[kr esa ls dkSu vkmViqV fMOkkbl ugha gS\

	 (a)	 ekWfuVj	 (b)	VpLØhu

	 (c)	 fizUVj	 (d)	 IykWVj

	55.	 fuEufyf[kr esa ls dkSu ,d vksiu lkslZ lkWÝVosvj 
ugha gS\

	 (a)	 bUVjusV ,DlIyksjj	 (b)	xqxy Økse

	 (c)	 fyuDl~	 (d)	vksiu vkWfi+Ql

	56.	 lqugjs pkoy esa chVk&dWjksVhu thu dgk¡ ls vkrk gS\

	 (a)	 xktj	 (b)	MSiQksfMy

	 (c)	 pqdUnj	 (d)	iihrk

	57.	 iapèkkjk ;kstuk lacafèkr gS
	 (a)	 unh ty izcUèku fodkl ls

	 (b)	 ukjh dY;k.k ,oa fodkl ls

	 (c)	 ,y-ih-th- forj.k ls

	 (d)	 Hkwty izcUèku ls

	58.	 ikSèkksa esa okbV cM jksx fdldh deh ls gksrk gS\

	 (a)	 f”kd	 (b)	dkWij

	 (c)	 cksjkWu	 (d)	eSaxuht

	 49.	 Poisonous mustard gas is a
	 (a)	 Gas
	 (b)	 Liquid
	 (c)	 Solid
	 (d)	 None of the above

	 50.	 The chemical used in manufacturing of dynamite 
is

	 (a)	 Glycerol
	 (b)	 Glycerol triacetate
	 (c)	 Glycerol trinitrate
	 (d)	 Glycerol triiodate

	 51.	 What percentage of alcohol in human blood causes 
death?

	 (a)	 2.0	 (b)	 3.0
	 (c)	 5.0	 (d)	 7.0

	 52.	 The term Information Technology can be defined 
as

	 (a)	 Computers + Connectivity
	 (b)	 Computers + Network
	 (c)	 Hardware + Software
	 (d)	 Connectivity + Hardware

	 53.	 How many bits are there in a kilobyte?
	 (a)	 1024	 (b)	 1000
	 (c)	 8024	 (d)	 8192

	 54.	 Which of the following is not an output device?
	 (a)	 Monitor	 (b)	 Touchscreen
	 (c)	 Printer	 (d)	 Plotter

	 55.	 Which of the following is not an open source 
software?

	 (a)	 Internet explorer	 (b)	 Google chrome
	 (c)	 Linux	 (d)	 Open office

	 56.	 The Golden Rice contains b -carotene gene which 
comes from

	 (a)	 Carrot	 (b)	 Daffodil
	 (c)	 Beetroot	 (d)	 Papaya

	 57.	 Panch Dhara Yojana is related to
	 (a)	 River Water Management
	 (b)	 Women Welfare and Development
	 (c)	 LPG Distribution
	 (d)	 Underground Water Management

	 58.	 White Bud disease in plant is caused by deficiency 
of

	 (a)	 Zinc	 (b)	 Copper
	 (c)	 Boron	 (d)	 Manganese
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	59.	 nwèk dk lisQn jax gksrk gS
	 (a)	 dSlhu ls	 (b)	,Ycqfeu ls

	 (c)	 ySDVkst ls	 (d)	 Xykscqfyu ls

	60.	 osc iksVZy DACNET lacafèkr gS
	 (a)	 b&,xzhdYpj ls	 (b)	b&dkWelZ ls

	 (c)	 b&fctusl ls	 (d)	b&ykftfLVDl ls

	61.	 laFkky ijxuk {ks=k dks vfr izkphu dky esa D;k dgk 
tkrk Fkk\

	 (a)	 ujh[k.M	 (b)	eku&oftZdk%

	 (c)	 djrkfluk	 (d)	buesa ls dksbZ ugha

	62.	 lkiQk&gksj vkanksyu fdl vkfnoklh leqnk; ls 
lacafèkr gS\

	 (a)	 eqaMk	 (b)	gks

	 (c)	 larky	 (d)	[kfM+;k

	63.	 fuEufyf[kr esa ls dkSu vkfne tutkfr gS\
	 (a)	 doj	 (b)	dksjk

	 (c)	 djekyh	 (d)	dksjok

	64.	 ^vaMh* vkSj ^vksiksjrhfi* uke ls izpfyr fookg fdl 
vkfnoklh leqnk; ls lacafèkr gS\

	 (a)	 gks	 (b)	igkfM+;k

	 (c)	 eqaMk	 (d)	mjk¡o

	65.	 'kkld iwj.key ds }kjk fuEufyf[kr esa ls fdl eafnj 
dk fuekZ.k djok;k x;k\

	 (a)	 jk¡ph fLFkr txUukFk eafnj

	 (b)	 nso?kj fLFkr f'ko eafnj

	 (c)	 jk¡ph fLFkr igkM+h f'ko eafnj

	 (d)	 bV[kksjh fLFkr Hknzdkyh eafnj

	66.	 egqvkMkaj vHk;kj.; >kj[kaM ds fdl ftys esa gS\
	 (a)	 iykew	 (b)	 dksMjek

	 (c)	 prjk	 (d)	 ykrsgkj

	67.	 ^vkatu èkke* >kj[kaM ds fdl ftys esa gS\
	 (a)	 xqeyk	 (b)	 x<+ok

	 (c)	 fxfjMhg	 (d)	 xksM~Mk

	68.	 >kj[kaM fuoklh nhilsu xqIrk dk uke fdl [ksy ls 
tqM+k gqvk gS\

	 (a)	 rhjankth	 (b)	 ckLdsVckWy

	 (c)	 ,FkysfVDl	 (d)	 'krjat

	69.	 [kksjBk ladyuksa dk izdk'ku ^es?knwr* uke ls fdl 
jpukdkj us fd;k\

	 (a)	 Hkqous'oj nÙk 'kekZ ^O;kdqy*

	 (b)	 ,-ds- >k

	 (c)	 ujs'k izlkn flag

	 (d)	 Jhfuokl ikuqjh

	 59.	 White colour of milk is due to
	 (a)	 Casein	 (b)	 Albumin
	 (c)	 Lactose	 (d)	 Globulin

	 60.	 The web portal DACNET is related to
	 (a)	 e-Agriculture	 (b)	 e-Commerce
	 (c)	 e-Business	 (d)	 e-Logistics

	 61.	 What was the Santhal Pargana region called in 
ancient times?

	 (a)	 Narikhand	 (b)	 Man-Varjikah
	 (c)	 Kartasina	 (d)	 None of these

	 62.	 Safa-Hor movement is associated with which tribal 
community?

	 (a)	 Munda	 (b)	 Ho
	 (c)	 Santal	 (d)	 Kharia

	 63.	 Who among the following is a primitive tribe?
	 (a)	 Kawar	 (b)	 Kora
	 (c)	 Karmali	 (d)	 Korwa

	 64.	 ‘Andi’ and ‘oportipi’ forms of marriage is related 
to which tribe?

	 (a)	 Ho	 (b)	 Paharia
	 (c)	 Munda	 (d)	 Oraon

	 65.	 Which of the following temples was built by the 
ruler Pooranmal?

	 (a)	 Jagannath temple at Ranchi
	 (b)	 Shiva temple at Devghar
	 (c)	 Pahari Shiva temple at Ranchi
	 (d)	 Bhadrakali temple at Itkhori

	 66.	 Mahuadanr sanctuary is located in which district 
of Jharkhand?

	 (a)	 Palamu	 (b)	 Koderma
	 (c)	 Chatra	 (d)	 Latehar

	 67.	 ‘Anjan Dham’ is located in which district of 
Jnarkhand?

	 (a)	 Gumla	 (b)	 Garhwa
	 (c)	 Giridih	 (d)	 Godda

	 68.	 Jharkhand’s resident Deepsen Gupta is associated 
with which sport?

	 (a)	 Archery	 (b)	 Basketball
	 (c)	 Athletics	 (d)	 Chess

	 69.	 Which litterateur has published the Khortha 
Compilations namely ‘Meghdoot’?

	 (a)	 Bhuvaneshwar Dutt Sharma ‘Vyakul’
	 (b)	 A.K. Jha
	 (c)	 Naresh Prasad Singh
	 (d)	 Srinivas Panuri
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	70.	 eqaMk ijaijk dk ^fjtx<+* fdl LFky ls lacafèkr gS\

	 (a)	 jksgrklx<+	 (b)	chtux<+

	 (c)	 ikyhx<+	 (d)	jktxhj

	71.	 ÚsaMf'ki µ 2016 D;k gS\

	 (a)	 :l vkSj ikfdLrku ds lSfudksa }kjk fd;k x;k 
la;qDr ;q¼kH;klA

	 (b)	 vesfjdk vkSj Hkkjr ds lSfudksa }kjk fd;k x;k 
la;qDr ;q¼kH;klA

	 (c)	 Hkkjr vkSj viQxkfuLrku ds lSfudksa }kjk fd;k 
x;k la;qDr ;q¼kH;klA

	 (d)	 Hkkjr vkSj d”kk[kLrku ds lSfudksa }kjk fd;k x;k 
la;qDr ;q¼kH;klA

	72.	 14osa vkfl;ku Hkkjr f'k[kj lEesyu dk vk;kstu dgk¡ 
fd;k x;k Fkk\

	 (a)	 fo;afr;su	 (b)	bLykekckn

	 (c)	 <+kdk	 (d)	nkoksl

	73.	 panzek ij tkus ds fy, nqfu;k dh igyh izkbZosV ÝykbZV 
;kstuk dk uke

	 (a)	 ewu ,Dlizsl	 (b)	ewu ÝykbZV

	 (c)	 panz;ku	 (d)	ewu esy

	74.	 viQx+kfuLrku dh igyh efgyk xouZj gS

	 (a)	 eykyk ;qlqiQtkgh	 (b)	eklwek eqjknh

	 (c)	 iQjhnk 'ks[k	 (d)	pk¡n mLekuh

	75.	 fj;ks vksfyfEiDl esa rqokyw jk"Vª us fdrus lnL;ksa@
izfrHkkfx;ksa ds lkFk fgLlk fy;k Fkk\

	 (a)	 5	 (b)	3

	 (c)	 1	 (d)	9

	76.	 fo'o vkfFkZd eap lEesyu&2016 (WEF) dgk¡ ij 
vk;kstr gqbZ\

	 (a)	 fLoV”kjySaM	 (b)	ykvksl

	 (c)	 vkWfLVª;k	 (d)	Úk¡l

	77.	 fo'o dk izFke dS'kysl vFkZO;oLFkk okyk ns'k

	 (a)	 dsuMk	 (b)	LohMu

	 (c)	 Úk¡l	 (d)	csfYt;e

	78.	 fj;ks vksfyfEiDl dh lcls ;qok ,FkyhV dkSu Fkh\

	 (a)	 nhik djekdj	 (b)	ojthfu;k Fksz'kj

	 (c)	 xkSfjdk flag	 (d)	,feyh lhcksgu

	79.	 xzkeh.k LoPNrk losZ{k.k ds vuqlkj LoPNrk ds ekeys 
esa lcls mQij dkSu&lk jkT; gS\

	 (a)	 >kj[k.M	 (b)	 flfDde

	 (c)	 dsjy	 (d)	rsyaxkuk

	 70.	 ‘Rijgarh’ in Munda tradition is related to which 
place?

	 (a)	 Rohtasgarh	 (b)	 Beejangarh
	 (c)	 Paligarh	 (d)	 Rajgir

	 71.	 What is Friendship–2016?
	 (a)	 The joint military exercise by the soldiers of 

Russia and Pakistan
	 (b)	 The joint military exercise by the soldiers of 

America and India
	 (c)	 The joint military exercise by the soldiers of 

India and Afghanistan
	 (d)	 The joint military exercise by the soldiers of 

India and Kajhakhastan

	 72.	 Where was the 14th ASEAN-India Summit 
organised?

	 (a)	 Vientiane	 (b)	 Islamabad
	 (c)	 Dhaka	 (d)	 Davos

	 73.	 What is the name of the world’s first private flight 
plan to go on the moon?

	 (a)	 Moon Express	 (b)	 Moon Flight
	 (c)	 Chandrayaan	 (d)	 Moon Mail

	 74.	 Afghanistan's First Lady Governor is
	 (a)	 Malala Yusufjahi	 (b)	 Masooma Muradi
	 (c)	 Farida Sheikh	 (d)	 Chand Usmani

	 75.	 The country Tuvalu participated with how many 
members in the Rio Olympics 2

	 (a)	 5	 (b)	 3
	 (c)	 1	 (d)	 9

	 76.	 Where was the World Economic Forum Meet-
2016, organised?

	 (a)	 Switzerland	 (b)	 Laos
	 (c)	 Austria	 (d)	 France

	 77.	 World’s first country to have cashless economy
	 (a)	 Canada	 (b)	 Sweden
	 (c)	 France	 (d)	 Belgium

	 78.	 Who was the youngest Athlete at the Rio 
Olympics?

	 (a)	 Deepa Karmakar	 (b)	 Virginia Thrasher
	 (c)	 Gaurika Singh	 (d)	 Emily Seebohn

	 79.	 According to the Rural Cleanliness Survey, which 
state is at the top of ladder as far as cleanliness is 
concerned?

	 (a)	 Jharkhand	 (b)	 Sikkim
	 (c)	 Kerala	 (d)	 Telengana
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	80.	 Hkkjr esa lokZfèkd xfr ls pyus okyh Vªsu ^xfreku 
,Dlizsl*] 4 vizSy] 2016 dks dgk¡&ls&dgk¡ rd pyh\

	 (a)	 ubZ fnYyh ls y[kumQ rd

	 (b)	 g”kjr futkeqíhu ls vkxjk rd

	 (c)	 fnYyh ls paMhx<+ rd

	 (d)	 eqacbZ ls iq.ks rd

	81.	 fj;ks iWjk&vksfyfEid esa Hkkjr dkSu&ls LFkku ij jgk\

	 (a)	 42osa	 (b)	43osa

	 (c)	 44osa	 (d)	32osa

	82.	 j.kFkEHkksj dh izfl¼ ckf?ku ftldh gky gh esa e`R;q 
gqbZ gS] mldk uke D;k gS\

	 (a)	 eNyh	 (b)	lksuy

	 (c)	 'ksjh	 (d)	'k=kqthr

	83.	 Hkkjr dh igyh l'kL=k ijek.kq iuMqCch gS

	 (a)	 vkbZ-,u-,l- frgk;q

	 (b)	 vkbZ-,u-,l- fojkV

	 (c)	 vkbZ-,u-,l- vfjgUr

	 (d)	 vkbZ-,u-,l- vL=kèkkfj.kh

	84.	 izkstsDV ywu (LOON) lacafèkr gS
	 (a)	 vif'k"V&izcaèku izkS|ksfxdh ls

	 (b)	 csrkj lapkj izkS|ksfxdh ls

	 (c)	 lkSj mQtkZ mRiknu izkS|ksfxdh ls

	 (d)	 ty&laj{k.k izkS|ksfxdh ls

	85.	 LVSaM&vi bafM;k Ldhe dk iz;kstu
	 (a)	 vuqlwfpr tkfr@tutkfr ,oa efgyk m|fe;ksa esa 

m|ferk dks izksRlkfgr djuk gSA

	 (b)	 fiNM+s oxZ ds m|fe;ksa esa m|ferk dks izksRlkfgr 
djuk gSA

	 (c)	 fliQZ vuqlwfpr tkfr ds m|fe;ksa esa m|ferk dks 
izksRlkfgr djuk gSA

	 (d)	 fliQZ efgyk m|fe;ksa esa m|ferk dks izksRlkfgr 
djuk gSA

	86.	 jk"Vªh; ekuokfèkdkj vk;ksx dk igyk iqjLdkj gky gh 
esa fdl fiQYe dks feyk gS\

	 (a)	 fiad	 (b)	CySd ,aM OgkbV

	 (c)	 jsM ,aM OgkbV	 (d)	CySd

	87.	 lHkh izdkj ds lkekftd foHksn dk mUewyu ekuokfèkdkj 
dh fdl ih<+h ds varxZr vkrk gS\

	 (a)	 igyh ih<+h

	 (b)	 nwljh ih<+h

	 (c)	 rhljh ih<+h

	 (d)	 pkSFkh ih<+h

	 80.	 ‘Gatiman Express’, the fastest Indian train on 4th 
April, 2016 ran from

	 (a)	 New Delhi to Lucknow
	 (b)	 Hazrat Nizamuddin to Agra
	 (c)	 Delhi to Chandigarh
	 (d)	 Mumbai to Pune

	 81.	 What was India’s rank at the Rio Para-Olympics?
	 (a)	 42nd	 (b)	 43rd

	 (c)	 44th	 (d)	 32nd

	 82.	 What was the name of the legendary Ranthambore 
Tigress that died recently?

	 (a)	 Machhali	 (b)	 Sonal
	 (c)	 Sherry	 (d)	 Shatrujeet

	 83.	 India’s first armed nuclear submarine is
	 (a)	 I.N.S. Tihayu
	 (b)	 I.N.S. Virat
	 (c)	 I.N.S. Arihant
	 (d)	 I.N.S. Astradharini

	 84.	 Project LOON is related to
	 (a)	 Waste-Management Technology
	 (b)	 Wireless Communication Technology
	 (c)	 Solar Energy Production Technology
	 (d)	 Water-Conservation Technology

	 85.	 ‘Stand-up India’ Scheme’s purpose is
	 (a)	 To encourage entrepreneurship among the 

SC/STs and women entrepreneur
	 (b)	 To encourage entrepreneurship among the 

entrepreneurs of the Backward Classes
	 (c)	 To encourage entrepreneurship only among 

the entrepreneurs of Scheduled Castes
	 (d)	 To encourage entrepreneurship only among 

the women entrepreneurs

	 86.	 The first prize of the National Human Rights 
Commission has been awarded recently to which 
movie?

	 (a)	 Pink
	 (b)	 Black and White
	 (c)	 Red and White
	 (d)	 Black

	 87.	 Eradication of all types of social discrimination 
comes under which generation of Human Rights?

	 (a)	 First generation
	 (b)	 Second generation
	 (c)	 Third generation
	 (d)	 Fourth generation
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	88.	 dkVkZtsuk izksVksdkWy dk lacaèk gS

	 (a)	 tSo lqj{kk le>kSrs ls

	 (b)	 iznw"k.k ls

	 (c)	 vkstksu {kj.k ls

	 (d)	 tyok;q ifjorZu ls

	89.	 la;qDr jk"Vª i;kZoj.k dk;ZØe (UNEP) dk eq[;ky; 
dgk¡ gS\

	 (a)	 n gsx	 (b)	uSjksch

	 (c)	 U;w;kdZ	 (d)	okf'kaXVu Mh-lh-

	90.	 nhfidk iYyhdy fdl [ksy ls lacafèkr gS\

	 (a)	 LDokW'k	 (b)	gSaMcky

	 (c)	 cSMfeaVu	 (d)	Vsful

	91.	 osyksMªkse fdl [ksy ls lacafèkr gS\

	 (a)	 Vsful	 (b)	ryokjckth

	 (c)	 eqDdsckth	 (d)	lkbfDyax

	92.	 ^la?kfe=kk dfyrk* dks gky gh esa fdl vokMZ ls lEekfur 
fd;k x;k gS\

	 (a)	 iqfyRlj vokMZ

	 (b)	 cqdlZ vokMZ

	 (c)	 KkuihB vokMZ

	 (d)	 n yhtu vkWiQ gkWuj

	93.	 ^uoukFku fiYybZ* dks fdl vokMZ ls lEekfur fd;k 
x;k gS\

	 (a)	 cqdlZ vokMZ

	 (b)	 iqfyRlj vokMZ

	 (c)	 vkLdj vokMZ

	 (d)	 n yhtu vkWiQ gkWuj

	94.	 us'kuy lsaVj iQkWj fM”kkLVj eSustesaV (NCDM) dgk¡ 
fLFkr gS\

	 (a)	 ukxiqj	 (b)	ubZ fnYyh

	 (c)	 gSnjkckn	 (d)	iq.ks

	95.	 izèkkuea=kh ujsanz eksnh us ^jk"Vªh;&vkink&izcaèku&;kstuk* 
(NDMP) dc tkjh dh\

	 (a)	 1 twu	 (b)	2 twu

	 (c)	 3 twu	 (d)	1 ebZ

	96.	 pØh; fuèkZu os gSa

	 (a)	 tks lnSo fuèkZu jgrs gSaA

	 (b)	 tks fujarj fuèkZu vkSj xSj fuèkZu gksrs jgrs gSaA

	 (c)	 tks vfèkdka'k le; èkuh jgrs gSa] ij ;nk&dnk 
fuèkZu jgrs gSaA

	 (d)	 mi;qZDr lHkh

	 88.	 Cartajena protocol is related to
	 (a)	 Biosafety agreement
	 (b)	 Pollution
	 (c)	 Ozone depletion
	 (d)	 Climate change

	 89.	 Where is the headquarter of the United Nations 
Environment Programme (UNEP)?

	 (a)	 The Hague	 (b)	 Nairobi
	 (c)	 New York	 (d)	 Washington D.C.

	 90.	 Deepika Pallikal is related to which sport?
	 (a)	 Squash	 (b)	 Handball
	 (c)	 Badminton	 (d)	 Tennis

	 91.	 Velodrome is related to which sport?
	 (a)	 Tennis	 (b)	 Fencing
	 (c)	 Boxing	 (d)	 Cycling

	 92.	 ‘Sanghmitra Kalita’ has been honoured with which 
award recently?

	 (a)	 Pulitzer Award
	 (b)	 Bookers Award
	 (c)	 Gyanpeeth Award
	 (d)	 The Legion of Honour

	 93.	 ‘Navnathan Pillai’ has been honoured with which 
award?

	 (a)	 Bookers Award
	 (b)	 Pulitzer Award
	 (c)	 Oscar Award
	 (d)	 The Legion of Honour

	 94.	 Where is the National Center for Disaster 
Management (NCDM) located?

	 (a)	 Nagpur
	 (b)	 New Delhi
	 (c)	 Hyderabad
	 (d)	 Pune

	 95.	 When did the Prime Minister Narendra Modi 
launch National Disaster Management Plan 
(NDMP)?

	 (a)	 1st June	 (b)	 2nd June
	 (c)	 3rd June	 (d)	 1st May

	 96.	 The cyclic poor are those
	 (a)	 Who always remain poor
	 (b)	 Who continuously shuffle between being poor 

and non-poor
	 (c)	 Who mostly remain non poor but sometimes 

they become poor
	 (d)	 All of the above
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	 97.	 Disguised unemployment means
	 (a)	 Unemployment resulting from change in 

technology
	 (b)	 Fall in productivity of labour
	 (c)	 Marginal productivity of labour is zero
	 (d)	 People in large numbers remaining 

unemployed

	 98.	 ‘Rajiv Awas Yojana (RAY)’ that was started in 
2011 has been granted extension till

	 (a)	 2016
	 (b)	 2020
	 (c)	 2021
	 (d)	 2022

	 99.	 United Nations Organisation (U.N.O.) is celebrating 
2016 as the

	 (a)	 International Co-operative Year
	 (b)	 International Youth Year
	 (c)	 International Bio-diversity Year
	 (d)	 Intemational Pulses Year

	100.	 Who is 195th member of UNESCO?
	 (a)	 Palestine
	 (b)	 Kazhakhisthan
	 (c)	 Croatia
	 (d)	 South Sudan

	97.	 izPNUu csjkstxkjh dk vFkZ gS

	 (a)	 rduhdh ds ifjorZu ls mRiUu csjkstxkjh

	 (b)	 Je dh mRikndrk dk de gksuk

	 (c)	 Je dh lhekar mRikndrk 'kwU; gS

	 (d)	 cM+h rknkn esa yksxksa dk csjkstxkj jguk

	98.	 ^jktho vkokl ;kstuk* tks 2011 esa 'kq: dh xbZ Fkh] 
mls dc rd ds fy, foLrkfjr fd;k x;k gS]

	 (a)	 2016
	 (b)	 2020
	 (c)	 2021

	 (d)	 2022

	99.	 2016 dks la;qDr jk"Vª la?k ds }kjk fdl :i esa euk;k 
tk jgk gS\

	 (a)	 varjkZ"Vªh; lgdkfjrk o"kZ

	 (b)	 varjkZ"Vªh; ;qok o"kZ

	 (c)	 varjkZ"Vªh; tSo&fofoèkrk o"kZ

	 (d)	 varjkZ"Vªh; nygu o"kZ

	100.	 ;qusLdks (UNESCO) dk 195ok¡ lnL; dkSu gS\

	 (a)	 ikfyLrhu

	 (b)	 d”kkf[kLrku

	 (c)	 Øks,f'k;k

	 (d)	 nf{k.k lqnku


